

Mark Scheme 4725  
June 2005

1.	$6\Sigma r^2 + 2\Sigma r + \Sigma 1$ $6\Sigma r^2 = n(n+1)(2n+1)$ $2\Sigma r = n(n+1)$ $\Sigma 1 = n$ $n(2n^2 + 4n + 3)$	M1 A1 A1 A1 M1 A1	    6 6	Consider the sum of three separate terms Correct formula stated Correct formula stated Correct term seen Correct algebraic processes including factorisation and simplification Obtain given answer correctly
2.	(i) $\mathbf{A}^2 = \begin{pmatrix} 3 & 8 \\ 4 & 11 \end{pmatrix}$ $4\mathbf{A} = \begin{pmatrix} 4 & 8 \\ 4 & 12 \end{pmatrix}$ $\mathbf{A}^2 = 4\mathbf{A} - \mathbf{I}$ (ii) $\mathbf{A}^{-1} = 4\mathbf{I} - \mathbf{A}$	M1 A1 M1 A1 M1 A1	   4 2 6	Attempt to find $\mathbf{A}^2$ , 2 elements correct All elements correct Use correct matrix $4\mathbf{A}$ Obtain given answer correctly Multiply answer to (i) by $\mathbf{A}^{-1}$ or obtain $\mathbf{A}^{-1}$ or factorise $\mathbf{A}^2 - 4\mathbf{A}$ Obtain given answer correctly
3.	(i) $22 - 2i$ (ii) $z^* = 2 - 3i$ $5 - 14i$ (iii) $\frac{4}{17} + \frac{1}{17}i$	B1B1 B1 B1B1 M1 A1	2 3 2 7	Correct real and imaginary parts Correct conjugate seen or implied Correct real and imaginary parts Attempt to use $w^*$ Obtain correct answer in any form



	(b) (i) $p = 2$	M1 A1	3	Or use substitution $u = x^2$ Write down a quadratic equation of correct form or rearrange and square Obtain $x^2 + 4x + 16 = 0$
	(ii) $a = 44$	M1 A1	2	Use sum or product of roots to obtain $6p = 12$ Or $6p^3 = 48$ Obtain $p = 2$
		M1 A1ft	2	Attempt to find $\sum \alpha\beta$ numerically or in terms of $p$ or substitute their 2, 4 or 6 in equation Obtain $11p^2$
			<b>11</b>	
9.	(i) $\begin{pmatrix} 2 & 0 \\ 0 & 1 \end{pmatrix}$	B1B1	2	Each column correct
	(ii) Shear, e.g. (0,1) transforms to (3,1)	B1B1	2	One example or sensible explanation
	(iii) $\mathbf{M} = \begin{pmatrix} 2 & 3 \\ 0 & 1 \end{pmatrix}$	M1 A1	2	Attempt to find <b>DC</b> (not <b>CD</b> ) Obtain given answer
	(iv)	B1		Explicit check for $n = 1$ or $n = 2$
	$\mathbf{M}^k = \begin{pmatrix} 2^k & 3(2^k - 1) \\ 0 & 1 \end{pmatrix}$	M1		Induction hypothesis that result is true for $\mathbf{M}^k$
		M1		Attempt to multiply $\mathbf{M}\mathbf{M}^k$ or vice versa
	$\begin{pmatrix} 2^{k+1} & 3(2^{k+1} - 1) \\ 2 & 0 & 1 \end{pmatrix}$	A1 A1		Element $3(2^{k+1} - 1)$ derived correctly All other elements correct
		A1	6	Explicit statement of induction conclusion
			<b>12</b>	